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H3883 2019-03-10(¥) 2019-03-15F) 2019-02-15~2019-02-22 ~2019-02-27 DIRECTIONS

The following items need a word or words to complete the sentence. From
5 389 3| 2019-03-24(¥) 2019-03-293) 2019-03-01~2019-03-08 ~2019-03-13 the four choices for each item, choose the best answer. Then blacken in the

correct circle on your answer sheet.
H39035 2019-04-07(¥) 2019-04-12() 2019-03-15~2019-03-22 ~2019-03-27
3913 2019-04-21(Y) 2019-04-26(=) 2019-03-29 ~2019-04-05 ~2019-04-10
83925 2019-05-12(%) 2019-05-17(2) 2019-04-12~2019-04-26 ~2019-05-01 [ __Bxample |
3935 2019-05-26(¥) 2019-05-31() 2019-05-03 ~2019-05-10 ~2019-05-15 ? The boys in the car.

(a) be
H3943 2019-06—-09(¥) 2019-06-14(3) 2019-05-17 ~2019-05-24 ~2019-05-29 ©)is
(c) am

39535 2019-06-23(Y) 2019-06-28() 2019-05-31~2019-06-07 ~2019-06-12 () are
H3963 2019-07-07() 2019-07-12(@) 2019-06-14 ~2019-06-21 ~2019-06-26 -
3973 2019-07-21(¥) 2019-07-26(3) 2019-06-28 ~2019-07-05 ~2019-07-10
439835 2019-08-04(Y) 2019-08-09() 2019-07-12~2019-07-19 ~2019-07-24

The correct answer is (d), so the circle with the letter (d) has been blackened.
39935 2019-08-18(Y) 2019-08-23() 2019-07-26 ~2019-08-02 ~2019-08-07
H4003 2019-09-08(Y) 2019-09-11() 2019-08-09 ~2019-08-23 ~2019-08-28 @60
4013 2019-09-22(¥) 2019-09-27(3) 2019-08-30~2019-09-06 ~2019-09-11
840235 2019-10-06(Y) 2019-10-113) 2019-09-13~2019-09-20 ~2019-09-25
4033 2019-10-20(¥) 2019-10-25() 2019-09-27 ~2019-10-04 ~2019-10-09
4043 2019-11-03(¥) 2019-11-08() 2019-10-11 ~2019-10-18 ~2019-10-23
HM4053 2019-11-17(®) 2019-11-22(3) 2019-10-25~2019-11-01 ~2019-11-06
M 4063 2019-12-01(¥) 2019-12-06(=) 2019-11-08 ~2019-11-15 ~2019-11-20
M 407 81 2019-12-15(¥) 2019-12-203) 2019-11-22~2019-11-29 ~2019-12-04
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IO Professor Michaels is in Kuala Lumpur for a

series of lectures on the worsening effects
of global warming. He the first
part of his lecture tomorrow morning.

(a) had delivered

(b) was delivering
(c) has delivered

(d) will be delivering

TacoVille is facing a lawsuit after a customer
got ill from eating their guacamole
salad. Probes proved that the food was
contaminated by bacteria. Authorities are
now demanding that restaurant owners

a premium on food safety.

(a) put

(b) will put
(c) are putting
(d) have put

Paul was scheduled for a job interview

this morning. However, he overslept, so
he wasn't able to arrive on time for his
interview. If he earlier last night,
he would not have been late.

(a) had gone to sleep
(b) was sleeping

(c) will have slept

(d) had been sleeping

I8 The CEO has discovered that his operations

manager has been falsifying documents to
conceal her withdrawals from the company’s
petty cash fund. He ordered that the crooked
manager immediately.

(a
(b
(c
(d

~

is fired

will be fired
be fired
was fired

= = =

Joe and Martin had planned to meet at the
cinema at 4:00 today. However, Martin
didn’t arrive on time, so Joe entered the
cinema without him. By the time Martin
arrives, Joe the film.

(a) will start to watch

(b) has started watching

(c) had started to watch

(d) will have started watching

A humpback whale that weighs
approximately 38 tons was found entangled
in gill nets in the California coast. Nobody
knows when the whale got caught, but it is
crucial thatit __ soon before it dies of
starvation.

(a
(b
(c
(d

~

will be rescued
is being rescued

=

is rescued

= =

be rescued

The Canucks just narrowly missed out on a

play—off spot. Although a good team, they
had problems scoring timely goals. Had they
been able to capitalize on their chances, they
probably more games.

a) will have been winning
b) have won
c) could be winning

e

d) would have won

As auditor, Rosanne is responsible for
keeping track of her company’s financial
transactions. Last month, while she

her quarterly report, she found
out that $950,000 worth of company assets
were missing.

a) has done

b) will have been doing
c) was doing

d) would be doing

Py

My brother is seriously considering selling
his four-bedroom house in Frisco to buy a
two—bedroom condominium unit in Highland
Park, where he works. | told him that he

weigh his options carefully
rather than make a hasty decision.

a) would
b) should
c) could

d) might

e

EEW Patrick was surprised to find out that getting

in his school's choir is difficult. He must sing
a pre—selected audition piece, and during the
audition, he also be judged based
on tone, harmony, and diction, among other

things.

(a) can
(b) would
(c) may
(d) will

BEED Yesterday, | accidentally dropped my new

laptop down the stairs. | had to bring it to the
service center for repairs. If only |
the laptop wouldn’t have been broken.

(a) was taking better care

(b) have been taking better care
(c) would take better care

(d) had taken better care

A landslide damaged a portion of Yeager
Airport's overrun area, leaving the runway
short of its usual length. Airport officials
propose _______the runway by 1,200
feet to facilitate smoother landing traffic.

(a) lengthen

(b) lengthening

(c) to have lengthened
(d) to be lengthening

29



[ GRAMMAR SECTION

| NEW | G-TELP 25 7|E=M& Al2[2 ©

30

Lila says she’s given up her sugary diet
altogether, but she still keeps chocolates
in her fridge. | told her to throw them away
because it's hard eating treats
when she sees them there.

(a) resisting
(b) resists

(c) to resist
(d) resisted

BB The former secretary of labor won
chairmanship of the Democratic Party. He
won the race after two voting rounds, and
following his promise the divisive
party.

(a) to unite
(b) uniting
(c) to have united
(d) having united

BB Bob is really worried about the presentation
he will make in his business management
class. There wasn’t a lot of information
on the topic he was assigned. If only he

a different topic, he wouldn’t be
SO nervous.

(a) will be assigned
(b) has been assigning
(c) is assigning

(d) had been assigned

BB Petrichor is the scent of rain that we smell

after a downpour. When plant-secreted oils
and chemicals from the soils are released,
they combine rain's pleasant smell.

(a) to be creating
(b) to create

(©

(d)

having created
creating

After four years of shifting careers and
moving from job to job, Matt thinks he may
have figured out what he's truly passionate
about: selling. The fulfillment when
he successfully closes a sale is incomparable.

(a) that he gets

(b) which gets him
(©

(d)

when he gets
whom he gets

Martha stays in a healthcare institution

for the old. She is sick, so she takes five

different pills every five hours, everyday. She
her third regimen of medication at

3:00 this afternoon.

(a) will be taking
(b) has taken

(c) takes

(d) has been taking

BB Space transport services company Space

X will be flying two passengers to the

moon by the end of 2020. The capsule will

be launched from NASA's space center,
also took off 40 years ago.

a) which the Apollo missions
b) when the Apollo missions
c) that the missions on Apollo
d) where the Apollo missions

e

Last night, Marco had to complete several
school projects, so he wasn't able to review
for his exam this morning. this, he
was still able to get a good score on the test.

a) In spite of
b) In case of
c) After all

d) Insofar as

—~ o~~~

Thomas was scheduled for a job interview
at 8:00 a.m. yesterday, but he arrived earlier
than the scheduled time. He for
more two than hours when he was told that
the interview had to be re-set.

a) will be waiting

b) has been waiting

¢) had been waiting

d) would have been waiting

Py

Monica has invited her mother—in—law to

dinner tonight. She has been up since early

this morning preparing the salmon, steak,

and salad she will serve. In fact, Monica
the appetizer right now.

(a) was preparing

(b) has been preparing
(c) is preparing

(d) will be preparing

Some say that luck plays a huge role in

achieving success. , | believe that
luck without patience, hard work, discipline,
and determination, is not enough to make
one successful.

(a) Inasmuch as

(b) On the contrary
(c) In other words

(d) As a consequence

My best friend gave me the Lord of the

Rings book series as a birthday gift. It's such
a great book that | haven't been able to put it
down. In fact, | it since last night.

(a) had read

(b) will be reading

(c) have been reading
(d) will have read
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Sarah watched the long queue to her favorite
author's book signing. If she didn't love The
Road to Cavalry too much, she in
line right now.

‘ The Listening Section has four parts. In each part you will hear a spoken
(©) WOU"?” tbe passage and a number of questions about the passage. First you will hear
(d) wasn't the questions. Then you will hear the passage. From the four choices for
each question, choose the best answer. Then blacken in the correct circle on
your answer sheet.

Earlier, Rachel’s boss called her into his
office to ask why she hasn’t finished a
project assigned to her. She explained that

she on a lot of other things, and m

~
that she simply hasn’t had the time. ? (3 one
_ (b) two
(a) has been working (©) three
(b) W.I|| work - (d) four
(c) will be working
(d) had worked \ )
Bill Johnson has four brothers, so the best answer is (d). The circle with the
letter (d) has been blackened.
@00e
THIS IS THE END OF THE GRAMMAR SECTION NOW TURN THE PAGE AND BEGIN

DO NOT GO ON UNTIL TOLD TO DO SO
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You will hear a conversation between two people. First you will hear questions 27 through

33. Then you will hear the conversation. Choose the best answer to each question in the time

provided.

(a) He plans to send it to a publishing
company.

(b) Kate borrowed it for her theater class.

(c) He is preparing for his photo exhibit.

(d) He wants to be a member of the school’s
newspaper club.

(a) write a script

(b) demonstrate her acting skills
(c) take photographs

(d) direct a play

(a) She was not confident in her acting ability.
(b) She was already a member of the club.
(c) She had to perform in other plays.

(d) She preferred to join other theatrical groups.

(a) do a dance presentation

(b) perform different acting roles
(c) execute various floor exercises
(d) carry out a song number

(@) It will help her make better videos for her
classes.

(b) It will teach her how to operate the light and
sound systems.

(c) It will help her write longer scripts.

(d) It will hone her directing skills.

(@) Members will receive a free newspaper
subscription.

(b) Members will receive a scholarship.

(c) Members will be given free tuition.

(d) Members will receive a salary for each issue
submitted.

(a) talk to Paul about the how to write scripts

(b) continue preparing to join the newspaper club
(c) accompany Kate to her study group session
(d) sign up for a theater—club audition

gl PART

You will hear a man talking about tips on how to close a sale. First you will hear questions 34

through 39. Then you will hear the talk. Choose the best answer to each question in the time

provided.

[ 34 ]

(a) to have a source of additional income

(b) to be able to sell their personal items

(c) to persuade people to purchase their product
(d) to force people to offer their services

(a) to explain the reason he is talking to the
customer

(b) to state how much time he has to talk

(c) to demonstrate what the advantages of the
product are

(d) to show how the conversation will flow

(a) by paying attention to their reactions and
gestures

(b) by analyzing how they converse with him

(c) by determining if they are interested or not

(d) by asking them appropriate questions

(a) that you are anxious
(b) that you are unreliable
(c) that you are scared
(d) that you are irritated

(a) “Would you prefer wood over cement?”

(b) “Are you going to pay in cash or credit card?”

(c) “Do you need more time to think about it?”

(d) “Would you like it delivered to your house or
your office?”

(a) a real estate agent

(b) a sales manager

(c) a store owner

(d) a customer service person
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You will hear a conversation between two people. First you will hear questions 40 through

46. Then you will hear the conversation. Choose the best answer to each question in the time

provided.

(a) She thinks her son is too young to be left in one.

(b) She’s not sure about their child care
qualifications.

(c) She doesn’t want to be separated from her son.

(d) She wants to wait for 10 more months.

[ 41 |

(a) baby-sitters

(b) those educated in child care
(c) children

(d) high school students

(a) It is reasonably priced.

(b) It is sanitary.

(c) Its amenities are suitable for kids.

(d) It is near the high school their baby-sitters
attend.

(a) get a degree in child development
(b) manage a day care center

(c) hire a nanny

(d) give their son the attention he needs

[ 44 ]

(a) They are younger.

(b) They are certified with a degree.

(c) They have been thoroughly investigated.
(d) They are less expensive.

[ 45 |

(a) by doing some research

(b) by visiting a nanny agency

(c) by calling a nanny friend

(d) by conducting an investigation

[ 46 |

(a) ask their household helper to take care of their
son

(b) take a course on child care

(c) do further research on nanny agencies

(d) get a nanny from an agency

gl PART

You will hear an explanation of a process. First you will hear questions 47 through 52. Then you

will hear the explanation. Choose the best answer to each question in the time provided.

(a) It encourages saving.

(b) It prevents unnecessary spending.

(c) It increases one’s money.

(d) It guarantees that purchases are sensible.

[ 48 ]

(a) computing daily expenses

(b) estimating monthly taxes

(c) requesting financial statements from the bank
(d) adding up earnings for the month

[ 49 |

(a) dinner items

(b) a restaurant meal

(c) watching a movie

(d) going to an amusement park

[ 50 |

(a) find a cheaper house

(b) lessen monthly purchases

(c) delay payments for credit cards

(d) increase the allotment for regular expenses

[ 51 |

(a) a possible change of residence
(b) emergency cases

(c) future credit card purchases

(d) potential investment or business

(a) kinds of expenses

(b) the importance of saving for emergency
expenses

(c) factors to be considered when budgeting

(d) tips on investing money
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and vocabulary questions. From the four choices for each item, choose the
best answer. Then blacken in the correct circle on your answer sheet.
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? Bill Johnson lives in New York. He is 25 years old. He has four brothers and two
sisters.

How many brothers does Bill Johnson have?

(a) one
(b) two
(c) three
(d) four

The correct answer is (d), so the circle with the letter (d) has been blackened.

@boOe

NOW TURN THE PAGE AND BEGIN
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g 1 PART What is Federico Garcia Lorca NOT What was the most likely reason that the

Read the following biographical article, and answer the questions. The underlined words in the article

are for vocabulary questions.

FEDERICO GARCIA LORCA

Spanish poet Federico Garcia Lorca was one of the most popular poets and dramatists of the
20th century. He was also a musician and a member of ‘Generation of 1927, an influential group
of writers and artists who promoted the use of innovative forms of art and poetry.

Lorca was born on June 5, 1899, in Fuente Vaqueros, Spain. As a child, he was fond of learning
“pop” music, reading romantic novels, and building toy theater sets. Of these interests, he was most
fascinated with music. He even underwent training to be a classical pianist. However, when his

piano teacher died, his interest shifted to writing poems, which he recited in local cafés.

Initially, Lorca wanted to study law at the University of Granada, but he eventually abandoned
the idea and decided to pursue literature and theater instead. He wrote his first book, /mpresiones
y Paisajes, in 1918. In 1919, Lorca moved to Madrid and stayed at the Student’s Residence,
the town's intellectual center. It was during this time that he started organizing theatrical
performances. Unfortunately, his first play, £/ Maleficio de la Mariposa, was not successful; it
was performed for only one day. Despite this, he continued to write and produce plays, such as
Mariana Pineda and The Shoemaker's Prodigious Wife. These plays dealt mostly with women, love,
and death. It was during the 1920s that Lorca achieved his greatest success as a poet. During this
time, he published a collection of poems, Zibro de Poemas. He also developed a fondness for the
Gypsy culture, which was reflected in a poem collection entitled Songs, and a book of verse called
the Primer Romancero Gitano. Lorca also continued his interest in plays, and became co-director
of La Barraca, a theater company that performed classical Spanish plays for free. During this stint,
he staged Blood Wedding, Yerma, and The House of Bernarda Alba. It was this “rural trilogy” that
brought him international fame.

When the Spanish Civil War started, Lorca went back to Granada. However, his works were
regarded as seditious, and were banned. Lorca himself was arrested by Nationalist soldiers and
executed, without a trial, on August 19, 1936. It was only during the 1970s that his writings again

became popular.

recognized for?

(a) his love for music

(b) his skill in writing plays
(c) his ability to write poems
(d) his talent in painting

Where was Lorca’s first work introduced to
the public?

a) at a university in Granada

b) at a coffee shop in Fuente Vaqueros
¢) in a theater with Gypsies

d) in the intellectual center of Madrid

Py

What was the outcome of Lorca’s pursuit of
literature and theater?

(a) He was able to write his first book.

(b) He got accepted into a theater school.

(c) He entered the University of Granada.

(d) He was cast in the play £/ Maleficio de la
Marjposa.

Based on the article, when did Lorca reach
the peak of his career in theater?

(a) during the production of Mariana Pineda in
Barcelona

(b) when he produced 7he Shoemaker’'s
Prodigious Wife

(c) during the staging of the “rural trilogy”

(d) when he co-directed for a theater company
in Madrid

Spanish government did not approve of
Lorca’s writings?

(a) They were not successful in some parts of
Spain.

(b) They were against the government of Spain.

(c) They were mostly about women, love, and
death.
(d) They were not intellectually written.

In the context of the passage, shifted means

(a) replaced
(b) developed
(c) advanced
(d) changed

In the context of the passage, seditious
means

(a) unpopular

(b) ineffective
(c) rebellious

(d) unacceptable
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Read the following web article, and answer the questions. The underlined words in the article are for

vocabulary questions.

RESEARCHERS DISCOVER
WATER RESERVOIR BENEATH THE
EARTH’S SURFACE

Researchers from Washington University in the United States have discovered a mammoth water
reservoir locked in rocks 400 to 800 miles beneath eastern Asia. Stretching from Indonesia to the
northern tip of Russia, the water is estimated to be at least equal in volume to the Arctic Ocean.
The discovery marks the first time such a large body of water has been found in the planet's deep
mantle.

Researchers Michael Wysession, a seismologist, and Jesse Lawrence, his former graduate
student, found the water while scanning seismic waves—waves generated by earthquakes traveling
through the earth. During analysis, the researchers noticed that the strength of the waves appeared
to dampen considerably in the area, and that the waves appeared to slow down slightly. Wysession
said that the pattern of lots of damping and little slowing of speed is consistent with the effect that
water has on seismic waves, indicating that there is indeed a large body of water in the area.

Wysession believes that the reservoir was formed when a cold slab of the ocean floor sank
thousands of miles into the Earth’s mantle. He said that the “water inside the rock goes down
with the sinking slab and it's quite cold, but it heats up the deeper it goes, and the rock eventually
becomes unstable and loses its water.” As it evaporated, the water molecules rose up into the
overlying region, which became saturated with water.

The discovery supports the findings of Norman Sleep, a geophysicist at Stanford University.
Sleep said that when the planet was young, the ice and water from the earth’s surface melted down
into the Earth’s mantle, where it evaporated from the heat and formed steam. This steam then
rose to the surface as volcanic gas, forming and replenishing the oceans. Sleep further explains
that underground water serves as a sort of lubricant that allows plates in the Earth’s crust to keep

shifting at their present rate.

508 Based on the article, what is true about the

recently discovered water reservoir?

(a) It is made up of 400 miles of rocks.
(b) It contains huge amounts of water.
(c) It was formed by volcanoes.

(d) It runs along the surface of the Earth.

How were the researchers able to discover
the water reservoir?

(a) They were doing an inspection of seismic
waves.

(b) They were traveling through the reservoir.

(c) They were doing some research about
rocks.

(d) They were on a swimming expedition in
eastern Asia.

According to Michael Wysession, what will
happen to the cold water inside the rock?

(a) It will heat up.

(b) It will cause earthquakes.

(c) It will sink down the ocean floor.
(d) It will be released from the rock.

What can be inferred about the future of
the Earth’s crust based on Norman Sleep’s
theory?

(a) It will turn into volcanic gas.

(b) It will weaken.

(c) It will form oceans and other bodies of
water.

(d) It will continue to move at its pace because
of the underground water.

IEZ8 What does the writer of this article probably

want to say?

(a) that we need water reservoirs to protect us
from earthquakes

(b) that we might discover more forms of
underground water

(c) that there are oceans trapped inside the
Earth’s mantle

(d) that oceans are formed from volcanic gas

In the context of the passage, mammoth
means

(a) bottomless
(b) enormous
(c) shallow

(d) ancient

In the context of the passage, dampen
means

(a) shrink
(b) humidify
(c) moisten
(d) weaken
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g PART Based on the article, what does the term Based on the article, what is true about
Read the following encyclopedia article, and answer the questions. The underlined words in the article “Wushu™ NOT refer to? modern Wushu?
are for vocabulary questions.
(a) a new form of Chinese martial art (a) It is used exclusively in the armed forces.
(b) a combination of traditional Chinese fighting (b) It is part of the curriculum in Chinese
techniques schools.
(c) a type of graceful exercise (c) It is a significant activity in China.
QX/ USHU (d) a skill used for self-defense (d) It does not require the use of weapons.
Contemporary Wushu, or simply Wushu, is China's most popular sport. It is a contact sport in
which the forms or routines executed are derived from traditional Chinese martial arts. However, =W Based on the passage, what was Wushu From the context of the passage, executed
o 5
unlike other contact sports which emphasize force and power, Wushu is performed with grace. originally used for’ means
People practice Wushu for self-defense and as a form of exercise. (a) promotion of health (a) performed
The word “Wushu” consists of two Chinese characters: Wu means military, and ShAuz means art (b) self-protection (b) accomplished
or method. Wu is also derived from the characters Z4i, for stop, and Ge, for war or violence. Thus, (¢) training so|d|er.s.for battle © f_O”_OW(Ed
(d) sports competitions (d) finished
Wushu is also known as “the art of stopping violence.”
Wushu has two elements. The first element, Taolu, consists of basic movements such as kicks,
stances, punches, sweeps, and jumps. Like gymnastics, the practitioner demonstrates various
routines. The second element, Sanda, is a sparring or ‘cut-and-thrust” technique inspired by B According to the article, when did Wushu's From the context of the passage, standardize
traditional Chinese boxing and wrestling. It appears similar to kickboxing, but it also includes popularity reach its height? means
wrestling techniques.
(@) when Sun Yat-sen became the leader of (a) practice
Wushu started off as a martial art used in military training during the Shang and Zhou dynasties ) p
China (b) instruct
(1600-256 B.C.). Soldiers and students were taught hand-to-hand combat, sword and spear- (b) in the time between the Zhou and Ming () arrange
handling, and also staff-sparring. As time passed, more people practiced Wushu. Local Wushu dynasties (d) regulate
c) before local Wushu organizations were
organizations began to emerge, and during the Ming and Qing dynasties (1368-1911), the practice © wablished ushu organiz W
establishe
of Wushu was at its peak. When the Chinese revolutionary, Sun Yat-sen, rose to power as President (d) from the mid 14th to the early 20th
of the new China Republic, he started to promote Wushu as a sport. In line with this, the Central centuries
Wushu Institute was established to standardize the martial art form and to create rules that could
be used in competitions.
The promotion of Wushu as a sport was the birth of contemporary Wushu, wherein practitioners When did the period of modern Wushu
continue to use hand-to-hand combat and traditional weapons, but in a non-violent manner. begin?
At present, Wushu is popular not only in China but in other countries as well. World (8) when the Central Wushu Institute was
championships are held every year, and it is an official medal event in the Asian Games. created
(b) when it was endorsed as a sport by the

Chinese government

(c) when weapons and hand-to—hand combat
were used to perform it

(d) when it participated in the Asian Games
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Read the following business letter, and answer the questions. The underlined words in the letter are for

vocabulary questions.

Robert Wilson
Director
Global Designs, Inc.

Dear Mr. Wilson:

I am writing to you regarding Jenny Sparks’ application to your company as Head Graphic
Designer. I would like to recommend her for this position.

Jenny worked under my supervision as an Assistant Graphic Designer for three years. Her
responsibilities included preparing concept boards for advertising campaigns, creating graphic
illustrations, and designing websites for our clients.

Apart from that, she actively participated in numerous special projects that helped attract more
clients. She founded the company’s newsletter and served as the Managing Editor of the same.
She also helped redesign our company’'s website, and spearheaded the development of a digital
portfolio of our company's projects.

During the three years that Jenny reported to me, she proved herself to be a competent, creative,
and highly skilled graphic designer. She delivered quality work, and she accomplished her tasks on
time. Her time-management skills were exemplary; she typically handled two or more projects at
the same time. Jenny also demonstrated excellent leadership skills.

She was assigned as Team Leader for a group of under-achieving graphic designers, and quickly
made them into a productive team. Another quality of Jenny's that has earned my respect is that,
even with her skills, she continually strived to learn more. She studied new design programs, and
attended workshops to further enhance her skills.

Simply put, Jenny was a great asset to our company. I'm certain that she would be an asset to

yours, too.

Thank you.
Sincerely,
Ellen Panbson
Director

Bedford Advertising Agency

Why is Ellen Parkson writing Robert Wilson a
letter?

(a) to apply for a position in his company

(b) to recommend Jenny Sparks

(c) to invite him to do some projects for his
company

(d) to ask him to design a website

What did Jenny Sparks NOT do in the
previous agency that she worked for?

(a) headed projects that were important to the
company

(b) make graphic designs

(c) had meetings with clients

(d) assisted in conceptualizing ad campaigns

Based on the letter, what quality does Sparks
possess that helped her become a good
team leader?

a) her ability to manage a group well
b) her creativity
c) her skill in drawing

Py

d) her discipline in finishing her work on time

What is the general tone of the letter?

(a) demanding
(b) exciting
(c) inspiring
(d) convincing

Based on the letter, what will Robert Wilson
most likely do next?

(a) He will meet with Ellen Parkson.

(b) He will go to Bedford Advertising Agency.
(c) He will get in touch with Jenny Sparks.
(d) He will ignore the letter.

In the context of the passage, spearheaded
means

(a) operated
(b) controlled
(c) handled
(d) directed

In the context of the passage, typically
means

(a) successfully
(b) usually

(c) practically
(d) carefully

THIS IS THE END OF THE TEST
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